A 5 PHES = »: 8. [2025« iz AaME—MER] BEHMES A={2||2[<2}),B={a,0},H M BREB. A S NALETT 4 AN S H XT3 LI A S OE
$_§§§‘nu‘$% ( ) BCTA U S28 a By U 3 2 ( ) &P,
- —
ATEDS ’L L2 A, [—2.2] B. [—2,00U(0,2] 15. (13 M) BHMeEU=RE45 A=[—4,—2],B={x|x+3=0},3k.
==
BIE C. (—2.2) D. (—2,0U0,2) (DANB;
Cef A :120 %% 48 :150 ) T GBS AL NE.EANE6 518 4. EENAL BRI A, (2)AUB;
— EERB . AT ESNE,ENES o, 40 . EENAS B NI A% HERMBAAHTER. AHANNFE 6 L. H 0 EANEH L4, 0% 3) [, (ANDB).
Top, A — TR A EE K. "R O
. T %5k 1E Y ( )
A 5EQ B. VZER A 1EA B. (—1)€A
C. 0EN D. rE€Z C. AC{—1,1} D. J€EA
2. L A={z|2"—32+2=0) IR EERE N ( ) 10. [2025 « B\ K AMM P Z—HP] EHMESFGU.S.T.F XA
A1 B 2 W B R 51 26 2 b w2 ( )
C. {1,2} D. {2} Y
- . - Cho
A. SCT B. TC [,F
( )
C. F< (.S D. TC [((SNF)
A {1} B. {—2} T . " R,
11, [2025 « rixhmM G —HP] B P BE— 1B E.HEDSAHAEWMNE. &
C. {=1,—2} D. {—1,0} 16. (15 4)[2025 « B BN FH—HF] H2EU=R.EH A= (1|

SHEE a b€ P E A a+b,a—b,ab,]ﬁep(ﬁfﬁﬁ b20),MF P &2
)

4. CHIEASA={—3,—1,0,1,2,4},B={x||x[<2,2€EN},M|ANB= 1‘2—6x+a=O},B={1'\1‘2—61‘+2=O},

( ) — AN HO. B A B Q R — U, B BTN E={a + 62 | (O#EEESG A PHEA—DTTRRIE « B9
A, {0,1.2) B. {—1,0,1,2} asb€QE F={a+by3|a,b€ Q). 5T X Bi A Hisk i 16 % H iF 2#E LA NB={2},°kR AUB.
C. {—1.1,2} D. {1,2} 1 1y ( )
5. WE{—3.1}CAS{—3,—1,0,1.3 (S A WM ECH «C A, BIE.F & ALK 0.1
A. 3 B. 7 B. AHEE QL

C. EUF &— /%
D. #¥% ZCENF

C. 8 D. 15

ZET@ A 3N NS 4,3 15 4

FiEnia) ( )

12, WESGA={1.2),] A B THEIEH CHTEMABCH
A, a=2 B. a<<2
C. a>2 D. a<<2 . . N N . . —

13. FEHBXT 100 Frofe P AR Th I A T IR A it S R BOR A R A 65

e e PRI 817, A AT 53 17 R 5 R % AT

Al [2, B. [2,4] 4. BHES A={z| —4<x<2),B={x|5—m<ax<2m—1}). H44E
C. [2.5 D. [2,5] U=R,ANC(;B)=A, W54 m 1Y BUETE F 2

sxERlEs (—) wiEz = 01



17. (15 4)[2025 - WBHFEFTFH—AF] CHESG A={z] —3<a<
0}, B={zx|m—1<<x<<1+m}.
(DA AN B= 3R SE m 1 BUHE 15 5
O#FEFEE ANB PUA — N EHOTE R AUB.

02 & 28%5% =hHy LES—H S

18.

A7 MEEE A={zx|2"—32x+2=0},B={z|x*—ax+a—1=0},
C={x|z*—mx+2=0,HAUB=A,ANC=C,3R%E¥ a W{H.m
) A Vi L

19.

A7 M EHESR A={a sa,,sa, ) HP n€N" Hn=4,a, €N’
(i=1,2,n), EFELS BEA L TBYNESG BHRHIALRZ
FLIFHLEY B HA—DICER b B, T(B)=b.

(L#F A={1,2,5,6,7,8},T(B)=8. G5 A nGERIEH B;

()# A=1{3,4,5,9,10,11},B={b, b, b, }, H T(B)J}& 12 5% .
Kl RN ES B BAEL





